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Administrivia

Midterm grades: worry below 150
Project proposals: watch on Piazza

One more homework left
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Two Points

((—3,3)+(3,-3) + (4,-3) + (4,—4))

ENTF

na =
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Two Points

pa = 7 (53,3 (3,-3) + (4,-3) + (4,-4))
= (2, —1.75)
Lg = (_47 3) _; (_474)
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Two Points

pa = 7 (53,3 (3,-3) + (4,-3) + (4,-4))
= (2, —1.75)
Lg = (_47 3) _; (_474)

= (~4,3.5)
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Two Points

3; (-4.6%,\3750)

A: (2.00, -1.75)
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Two Points

(3,-3) + (4,-3) + (4,—4)

[A =
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Two Points

(3,-3) + (4,-3) + (4,—4)
3

fta =

= (3.67,—3.33)

(—4,3) + (—4,4) + (—3,3)
3

pB =
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Two Points

(3,-3) + (4,-3) + (4,—4)
3

fta =

= (3.67,—3.33)

(—4,3) + (—4,4) + (—3,3)
3

pB =

= (—3.67,3.33)
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Two Points

B: (-3.%,\3.33)

A: (3\6%{-3.33)
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Four Points

. (]
. . . (]
>
. . ) .
) .
X

Machine Learning: Jordan Boy Boulder supervised Continuous Cluste



Four Points

The observation at (3, 3) is the same distance from pa and pc. If you
look at Line 10 in the algorithm, the first mean with the smallest
distance gets the assignment. So (3, 3) gets assigned to cluster A.

Ha =
uB =
Hec =
UD =
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Four Points

The observation at (3, 3) is the same distance from pa and pc. If you
look at Line 10 in the algorithm, the first mean with the smallest
distance gets the assignment. So (3, 3) gets assigned to cluster A.

pa=(-1,1)
uB =
Bc =
D =
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Four Points

The observation at (3, 3) is the same distance from pa and pc. If you
look at Line 10 in the algorithm, the first mean with the smallest
distance gets the assignment. So (3, 3) gets assigned to cluster A.

pa=(-1,1
pe = (—4,0)
uc =
UD =
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Four Points

The observation at (3, 3) is the same distance from pa and pc. If you
look at Line 10 in the algorithm, the first mean with the smallest
distance gets the assignment. So (3, 3) gets assigned to cluster A.

pa=(-1,1)
pe = (—4,0)
pe = (3,-3)
Up =
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Four Points

The observation at (3, 3) is the same distance from pa and pc. If you
look at Line 10 in the algorithm, the first mean with the smallest
distance gets the assignment. So (3, 3) gets assigned to cluster A.

pa = (-1,1)
pe = (—4,0)
pe = (3,-3)
up = (4,0)
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Four Points

A: }-3.00, 3.00)
3: (-4 23.3’0)

ol 00
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Four Points

ETY.
3: (-4.01%, 0.00) D: (4.0, 0.00
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Four Points

HA =
KB
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Four Points

HA = (_37 3)
KB
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Four Points

HA = (_37 3)
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Four Points

HA = (_37 3)
ug = (—3.8,—0.6)

Hc
KD

(3.67,—3.33)
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Four Points

3,3)

pa = (—

ug = (—3.8,—0.6)
pe = (3.67,—3.33)
up = (3.67,3.33)
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Four Points

A: (&g 3.00) o (m%? 3.33)

B: (-3.8fX -0.60)

C: (3\6%2-3.33)
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Four Points

HA =
UB
Hc
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Four Points

fia = (—3.67,3.33)

fic
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Four Points

pia = (—3.67,3.33)
g = (—3.67,—3.33)
fic =

fip =
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Four Points

pia = (—3.67,3.33)
g = (—3.67,—3.33)
jic = (3.67,-3.33)
fip =
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Four Points

—3.67,3.33)

pa = (

ug = (—3.67,—3.33)
pe = (3.67,—-3.33)
up = (3.67,3.33)
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Four Points

A: (-3%7, 3.33)
%\ D: ('ﬁ% 3.33)

C: (3.6%53.33)
B: (-3.%?,/-3.33) 3\%5
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Bad Initialization
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Bad Initialization

5 C: (0.25, 4.25)
i
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. B: (-0.50 -4.25
5 4 3 2 4 0 1 2 3 4 5
X
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Bad Initialization

C: (0.0Q, 4.00)

D: (0.00, 3.00)

A: (0.09, -3.00)

B: (0.0, -4.00)

Unsupervised Continuous Clustering | 6 of 6

Machine Learning: Jordan Boyd-Graber |  Boulder



